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When consumers and producers meet
As explained in chapters 4 and 5, the rational consumer does the best he can to satisfy his needs. This leads him to purchase various baskets of goods depending on his preferences, his revenue, goods which are offered to him and their prices. Everything else given, if the price of good X, let us say, coffee, increases, he will tend to purchase less coffee, and inversely. And the same will be true of each consumer. Hence, for a given price, if we add up all the quantities of coffee that each consumer desires to purchase we obtain the total demand for coffee. We call it the market demand for coffee. 

Meanwhile, each coffee producer is trying to maximize her profit. She will be willing to produce more coffee as long as the extra unit produced increases her profit. Assuming she produces already in the region of increasing marginal costs, this means that she will increase her production only if the market price for coffee increases. Again, adding up, for a given price, the quantity of coffee that each coffee producer wishes to produce (because it maximizes her profit), we obtain the market supply for coffee.

If we represent, for every price, the market supply and the market demand we obtain the most famous graph in the economist profession! We sometimes call that graph Marshall’s scissors  
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Marshall’s scissors

What will be the result of those interactions between consumers and producers? What will be the market price and what will be the quantities exchanged? To answer those questions, economists have traditionally relied on the concept of equilibrium.

The market equilibrium

Each actor on the market, via the expression of his or her desires, exercises some power, even though tiny, on the market outcome. Like in mechanics, those powers eventually lead to an equilibrium, that is to say, to a state in which, if no new power is exercised, the system will stay still. 

It is easy to understand that here only one price can be an equilibrium price: P*. To show that we will assume first that the price for coffee is at PH, and then that it is at PL. As we will see, in both cases the system is unstable. Only in P* can the system be in equilibrium.
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If the price is “high”, point PH on our graph, consumers wish to buy little coffee. The aggregate demand for coffee is the quantity DH. Producers are ready to produce a lot. If we add up all the profit-maximizing quantities we obtain the aggregate supply SH. Therefore at that price the quantity that producers wish to sell is much higher than the quantity consumers are ready to buy. If decisions are made on the basis of that price, PH, we will have an excess supply. Producers will not be able to sell the totality of their production. Individual plans turn out to be incompatible, and therefore will have to be revised. In that case, the few consumers who were ready to buy at that high price found what they wanted. But the same cannot be said of producers: they are disappointed because they cannot sell what has been produced. Chances are therefore that they will lower their production level and be ready to sell at a lower price. PH cannot be an equilibrium price. Revisions of producers’ plans will push the price downward.

Something similar occurs if the price is “too low”, like in PL. At that price we have an excess demand. Many consumers wish to buy coffee when price is low and the aggregate demand is DL. But producers refuse to produce more than SL.  Here again, the plans formed by consumers and producers are not compatible. More precisely, some consumers cannot find any coffee at that price; when they reach the store, there is no coffee left. Realizing it, producers will most probably increase price and production. 

Finally, at price P* everyone is satisfied! At that price consumers wish to buy a quantity Q* of coffee, which happens to be just equal to the quantity of coffee producers wish to supply. Individual plans are compatible. An equilibrium has been reached.

“The law of the market”

 From the previous analysis follows what is sometimes called “the law of the market”. According to that law, the price prevailing on the market is the result of the general economic environment. As long as technology and preferences will remain what they are, P* is the price which, for the reasons presented above, will be the likely outcome of interactions. 

A corollary of that law is that if something changes in the economic environment, if, for instance, consumers’ preferences change, or technology changes, or if new goods are being offered, or if the prices for other goods are changed, etc.; in brief, if something leads to a change in aggregate demand or aggregate supply, then the equilibrium price will change. 

Below is illustrated what happens if the aggregate demand is lowered (that is, if for a given price the demand is lower than it used to be). Not surprisingly the new equilibrium is reached at a lower price.
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Illustration: the labour market and the effect of a minimum wage regulation

We can illustrate the law of the market with the case of the labour market.
 On this market, the supply comes from those who look for a job. It is usually assumed (although this is not self-evident
) that the supply of labour will increase following an increase in the price of labour, that is to say, a wage increase. Hence the supply of labour can be represented by an upward slopping line. 

The demand for labour comes from firms. It is reasonable to assume that the higher wages are, the lower will be the demand for labour. This is due, among other things, to the fact that when wages are higher, producers will tend to replace labour with capital whenever possible (and assuming, of course, that the price of capital does not increase at the same time…).

On the labour market, like on any other market, the price will be set at a level such that supply equals demand. Let us call w* that level. 

What will be the effect of a law fixing a minimum wage? Will it just increase the well-being of workers as is often believed? The above analysis shows us that things are much more complex than that. In fact two cases must be distinguished according to whether the legal minimum wage, wm, is below or above the equilibrium wage w*.
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Labour market and minimum wage

If the legal minimum wage is below the equilibrium wage, wm < w*, then it has no effect on the well-being of workers. In fact it has no effect on neither the amount of labour traded, nor on the price at which it is traded. If, on the contrary, the legal minimum wage is above the equilibrium wage, wm > w*, then an excess supply of labour appears. At wage wm some individuals wish to supply their labour but find no demand because producers are not ready to pay that price. This is what is observed in many countries with a relatively high legal minimum wage: low productivity jobs, such as doorkeeper, maid, babysitting, gardener, alteration hand, disappear because you don’t want to pay a high wage for a low productivity job. At least, they disappear from the legal market… and reappear on the black market where wages below the legal minimum wage will be offered! 

The gains from trade: consumer surplus and profits

In the first chapters of that course, we claimed that trade is a powerful way to fight against scarcity. Trade is more generally the best route to progress. How does that translate in our market story? Who gains from trade when the price is set at P* and a quantity Q* is being traded? And how much do they gain?

A first approach to the question is to notice that some individuals do participate in that market and others do not. Those who participate, selling or buying coffee, are surely better off doing so, otherwise they would not do it. Those who do not participate were not able to find suitable trading conditions. For instance, some consumers would have been happy to buy coffee if only the price had been lower, but at price P* they have chosen no to trade. In other words, as long as transactions are voluntary, i.e., as long as the freedom to contract is protected, the opening of a market can only increase well-being for those who choose to participate in that market.

Still remains the question: by how much is well-being increased? Let us first look at the demand side. It might be useful at that point to introduce the concept of reservation price: In the case of a consumer, the reservation price is the maximum price that consumer is ready to pay to get the good. For a consumer who was ready to put as much as PH (his reservation price), to pay only P* leads to a gain of (PH – P*). More generally, all the consumers with reservation price above P* are gaining from trade. Even those consumers who were ready to put P* but not more gain from trade, if only a little bit (otherwise they would not trade). 
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An approximation of consumer surplus

If we sum up all the gains from trade realized by all the consumers we obtain what is called the consumer surplus. That surplus is in terms of utility and, as was pointed out earlier, there is no meaning to add up the utilities of two individuals because utility is something intrinsically subjective. But economists not satisfied by that general conclusion have looked for an approximation of that consumer surplus. Using the fact that, logically and given reservation prices, the lower the equilibrium price, the higher will be the gain from trade, they have proposed to approximate the consumer’s surplus by that area located below the demand curve (see the graph above and the green area). 

Let us now turn to the study of the gains from trade realized by the producers. As was the case for the consumer, if a producer decides to take part to that market it is because he is better off doing so than abstaining from trading. Those who would have loosed selling at that price (P*) will have rationally and voluntarily withdraw from the market. 

Now, if you recall the previous chapters (in particular chapter 6), the profit realized by the firm depends on the difference between the average cost and the market price. To be more precise the profit is defined as the following product: 

Profit = quantity sold x (market price – average cost for that level of production)

This is illustrated on the graph below on which are represented the average and marginal cost curves of a company, the market price (P*), the quantity produced that maximizes profit (Q°), and the level of profit (the green rectangle).
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Profit realized by a single firm at price P*

The equivalent of the reservation price in the case of a producer is what we have named the break-even point which is identified on that graph as corresponding to the price Pinf. If the price is at Pinf or below it, the firm does not produce. As soon as the price is above that threshold, profits are made. Hence, how much producers will benefit from trade will depend on their cost curves: because here the price is the same for everyone, a firm with lower costs will benefit more from trade than a firm with higher costs.

Free entry and long run equilibrium: consumers’ paradise
Profits stimulate competition! What will you do if you know a friend is making a lot of money making the taxi? Well, if you believe being a taxi-man does not require any special talent (which, by the way, is not true) and if you are not yourself making a lot of money, you might seriously think about entering the taxi business. If you do so your friend will probably have a smiling face. He is proud (he has helped a friend) and happy for you (you make more money than before). 

But assume now that not only you but many unemployed and many others who have a low pay job quit their jobs and start offering their services as taxi. (This is very likely: profits constitute a powerful market signal. They signal that there are some wants which are unsatisfied and that some rewards are available for those who are ready to feel the gap.
)  Then, at that point, your friend stops smiling! Because what was once a very lucrative business is now a tough job not so profitable: you need to work long hours in order to bring back home some descent money. Why is that so? Because of course many taxi drivers are now competing for approximately the same amount of clients. So it costs everyone more to find a client (you have to look longer). Furthermore, clients knowing that there are many taxis available start to bargain, pushing prices down. Costs are higher, prices are lower: Yes indeed profits are shrinking rapidly.

You may say: Wait! The number of clients will probably increase if prices are lower. And you are perfectly right, and this will indeed give some “oxygen” to the business. But it might also attract new candidates for this type of jobs. So where will that process end up? It is impossible to know precisely because it will depend on many things and in particular on the profitability of other available jobs and how many potential taxi drivers are available. In a simplified textbook story it is often say that new producers (here, new taxi drivers) will enter the market until profits are driven down to zero. In a more realistic way, we might guess that new producers will enter the market until the level of profits in that business becomes similar to the level of profits in other lines of business.

One thing is sure, however, consumers benefit from that competition. The tendency is towards more taxis available and lower prices. Almost a paradise for consumers!

Barriers to entry and monopoly profits

If that long run tendency pleases consumers, it is not welcomed by the profession. Nobody likes it when his profits are eroded! As a matter of fact there is a general law which admits very few exceptions: We all love competition (because we are consumers), excepted in our own line of business…

We must therefore expect producers to react in order to stop the erosion of their profits. Many strategies can be used to that effect and we will have the opportunity to present some of them in later chapters. One of the strategies consists in blocking the entry to the profession. We will here present what happens in the extreme case where the producer is successful in keeping everyone out of business so that he is the only one to offer the product. We call that a situation of monopoly. 

A monopoly position is a very enjoyable one. It gives you power, at least market power. How much power exactly do you have and how much profit you will be able to make depends of course of the kind of product you sell. More precisely it depends on how consumers feel about your product, and whether, in their opinion, there exists good substitutes for it. To use a technical term introduced in chapter 5, it depends on the price elasticity of the demand for that product: if the demand is elastic, i.e., if consumers can easily substitute another product for yours, then you will have little power. If, on the contrary, the demand is inelastic, you will have a lot of power. If I obtain from the government the monopoly of the production of milk it is a good deal for me. If I obtain the monopoly of the production of salami sandwiches it is not such a good deal!

Another way to analyze the situation of a monopolist is to notice that the market price is no longer given to that producer. He is no longer a price taker. He is a price maker. He can set his own price. Does that mean that he will set his price as high as possible? No. He will set the price that maximizes his profit, and, because his profit is partly determined by how much he will sell, he must, when setting his price, take into account the demand. 

Here again, what we have done in the previous chapters is helpful. Recall that we have established the following:
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Marginal cost—the cost of producing one extra unit—is still derived as before from technology and inputs prices. What is new in a monopoly setting is the way marginal benefit evolves. 

In a competitive environment, the benefit realized through the production of one more unit was simply the “market price”. Being only “a small producer” among many producers I was able to sell everything that I produced but I had to accept the price “imposed” on me by the market. In a monopoly situation things are different; the producer can choose his price. Now what happens if he increases his price? Does that increase his benefits? Not necessarily, because a price increase will reduce the volume of sales. 

In fact, as illustrated below, the monopolist is directly facing the demand for his product. If the price is high (PH), the demand (the volume of sales) will be low (QH). If the price is low (PL) the volume of sales will be high (QL). With a high price benefits (i.e., volume of sales times the price) are given by the sum of the two rectangles A + B. If the price is low, the volume of sales is given by the sum: B + C. 
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Evolution of benefits in the monopoly case

Aware of that relation between the price chosen and the level of benefits, and knowing his costs functions, the monopolist will find that price level of production that maximizes profits.

Comparing monopoly profits with profits realized in a competitive setting

One of the favourite exercises among economists consists in comparing profits realized under competition and profits realized in a monopoly case. So I have to say a few words about it. But, I must warn you from the start that this is a very artificial comparison for reasons that will appear clearly as we move forward.

We have explained not long ago that where free entry prevails consumers receive all the benefits from competition for an obvious reason: As long as profits are made, new producers enter the market thus increasing supply and pushing prices and profits downwards. (Recall the taxi story).

Hence we have reached the conclusion that as we move from a situation with only one taxi to a situation in which many taxi drivers are competing the following is very likely to happen:

· Price falls

· The quantity produced is increased

· Consumer surplus is increased

· Profits are lower

Now, let us reverse the story and imagine that we move from a market with many producers to a market with only one producer (a monopoly). What should happen is:

· Price increases

· The quantity produced is reduced

· Consumer surplus is reduced

· Monopoly profit are made

But that’s not all! We can also show that, as we move from many competitors to monopoly, what is lost by consumers (the decrease in consumer surplus) is more important than what is gained on the production side (the increase in profits). Hence, in a way, there is a pure loss if we consider the society all together (producers + consumers). We call it a dead weight loss, a loss without compensation. 

This result makes it easy to understand why monopoly is looked upon as a very damageable situation by most economists. But the comparison we just made is, as I said, a very artificial one because a very static one. What we have done is the following: First, take a monopoly and look at the market outcome (price, quantity, consumer surplus and profits). Second, assume we can find many firms which possess the same technology and can offer the same product at costs which are similar to that of the monopolist (or lower), then, if you have all those firms competing, the market outcome will be different and better for consumers. But this is a kind of laboratory experiment which is not so frequent in real life! In particular, as we will see later, monopoly is often the outcome of (and not an alternative to) competition. A producer remains alone on the market because he was better than the others: better product, lower prices (because of lower costs of production), higher quality. So, if you compare the situation at the beginning (with many producers) and at the end (where only one is left), it is not evident that consumers have lost something: the reverse could be true. 

To sum up our discussion of monopoly we can say the following:

1. Producers benefit often from a monopoly situation (they regain market power), and we should therefore expect them to look for ways to monopolize the market. Some of those ways, we will see later, are damaging consumers; others don’t.

2. A producer who reaches a monopoly position thanks to some legal protection is dangerous because it means that even if some other producers could offer a better product or the same product at a lower price, they are forbidden to do it.

3. But a monopoly which has no legal protection and which has reached that position by offering a better product (or the same product as his competitors but at a lower price) is no danger for consumers. He is even a blessing! He was, so to speak, elected by them.

Duopoly, oligopoly and market collusion
There exist many intermediary states between monopoly and “pure” competition. Some of those states have been extensively studied. For instance, many economists have tried to figure out what will be the market outcome (the market equilibrium) when only two producers are competing. This is called a duopoly. Duopoly itself is just one instance of oligopoly, oligopoly meaning that there are only a “small” number of producers. 

So what will be the market outcome in those cases? A short and honest answer is: It depends!! Take a duopoly for instance: sometimes two competing producers are enough to bring prices down to a low level. But sometimes those two producers can implicitly or explicitly collude, the result then being very close to the monopoly’s result; except that now profits are shared between two companies. 

As the number of producers increases, collusion surely becomes more difficult. Assume for instance that a large number of producers decide to form a cartel in order to reduce the quantity available on the market and to rise prices
. If that cartel is successful in keeping prices up, it is then very tempting for each member of the cartel to break the promise made of keeping quantities low. He/she will have a strong incentive to increase its production. He will then gain the full advantage of higher prices. 

This is not to mean that collusion is not possible (recall Smith’s warning: when producers get together, it is often to see how they can coordinate to increase their profits). Rather the point is that to implement collusion strategies is not that simple. The cost incurred to make sure that no one breaks its promise can be high.

A final remark. It may happen that you have many producers but only one consumer (we have a name for that: monopsony). This will be the typical situation in public contracting; many producers competing to contract with the municipality, or the State, or some local government. This situation is in general favourable to the public authority and one strategy you can use to get the best possible deal is to run an auction, asking each producer to make an offer and giving the market to the best offer.

From partial equilibrium to general equilibrium to the dynamics of markets

This ends up our first approach of market interactions. It is an approach which sheds some light on how market works, but which at the same time, includes many dangerous simplification. So, if you were to close the book at that point, your understanding of market economies will still be very partial, and eventually misleading.

In the next chapter we present the concept of general equilibrium which was designed to deal with one of the shortcomings of that approach: the fact that you cannot isolate a market the way we did in that chapter. In reality, all markets are interdependent. 

But the concept of general equilibrium is may be doing more harm than good. So you will have to wait until chapter 10 to have a story about how the market works which, in my view, is more satisfactory.
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� Of course, to talk about “the” labour market is a huge simplification. In reality, jobs are not similar. Each job usually requires some specific qualification. Also, candidates for a given job are not of equal value: some have already a working experience and/or better education. Still, the simplification can help us to grasp an important point.


� It is not self evident because a rise in wage has a double effect (recall chapter 4 and the presentation of the revenue and substitution effects) : on one hand it makes working more attractive (or, if you prefer, leisure less attractive), but on the other hand, following a wage increase, even if you work the same amount has before you make more money. So why should you work more?


� We will deal in the next chapter with the possibility that some be hurt outside that market.


� This is why it is sometimes advisable not to say publicly that your business is working well…


� This is what the good old Smith (Adam!) called the natural rate of profit. May be here a quote from Smith. 


� The oil cartel is a well known example, although in fact not a good example because it is a cartel of state companies and the behaviour of those decision makers is not necessarily identical to the behaviour or a “regular” business men. 


� To come back again to the oil cartel, States are more stable than companies. Hence some kind of retaliation against the black sheep who has broken its promise is easier. A State cannot use a strategy of “hit and run”. It can hit, but it cannot run away and you can make it pay for its betrayal in many ways. 
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